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1. Erg'cﬁl?f—?]ﬁr DI Il ®RH BT USCR Bl 1. The lessee’s right to recoup short-

ARER TET TR BT S workings is always related to :
(A) T T 9 | (A) First two years

(B) 3NTol OF 9§ ¥ (B) Subsequent three years
(C) o™ & wal 4 (C) Terms of agreement
(D) SWE ¥ | TS el (D) None of the above

2. - gRI A fovar 7T sifeR Yo 2. Royalty earned by landlord is credited

Fretferftaa & B R o & o

(A) r-gIf T (A) P&LA

(B) U HRBR Yeb Wl (B) Royalty Receivable Alc
(C) USER &l Tl (C) Lessee’s Alc

(D) SY-USER BT Wil (D) Sub-lessee’s A/c

3. USGR @ gmdni q T fovTar @rar d9 3. Minimum Rent A/c can be opened in the

A o TFa L 99 aReR I - books of lessee if royalty is :
(A) A TR & 31l & (A) More than minimum rent
(B) <M faRTI ¥ & &I (B) Less than minimum rent
(C) AH [ & R & (C) Equal to minimum rent
(D) AG-FR IR & RER & (D) Equal to shortworking

C010202T (3) Set-B



forar-5a @ <=M W, gERl @ @
fforad | sfde fovar o @

(A) RIT-5HT 47

(B) fasal &1 @FTd Hed

(C) o T

(D) SWE ¥ | TS el

foTaT-sa Tl ¥, fe~m-smar o @
frforRad fofr & v@ @& @ -

(A) IHRT S fafer

(B) w1 Tae e fafy

(C) THI# ¥ s 41 fafy

(D) SWa ¥ ¥ I3 T

U6 WAH @ THe qed T 9,000 Tl
SUG fORRT F9 79 T 10,000 &, SN
R IR qME fFed § 7 81 IS
fored # @9 39 YGR WMAe BT -

(A) 400, % 300, % 200, % 100
(B) 250, 250, % 250, T 250

(C) %100, % 200, ¥ 300, T 400
(D) SWad # | BIS T

C010202T

(4)

In case of hire-purchase, Asset Account is

debited with :

(A) Hire-purchase price

(B) Cost price of seller

(C) Cash price

(D) None of the above

Under hire-purchase system, hire buyer

can maintain his accounts under :

(A) Asset Accrual method
(B) Total cash price method
(C) Any of the two methods

(D) None of the above

Cash price of a machine is ¥ 9,000 and its
hire-purchase price is ¥ 10,000 payable in
annual instalments. Each

four equal

instalment has interest in it :

(A) 400, % 300, T 200, T 100
(B) %250, % 250, T 250, % 250
(C) %100, % 200, 300, T 400

(D) None of the above

Set-B



10.

C010202T

fped A ugld H war & Refq skl
g

(A) e o

(B) FewE @1

(C) <! @I

(D) STda # | Big AL

fbed YTaM U H @ @[ @ oI
e @1 g fbar o &
(A) ARG Frar

(B) M-I &rar

©) fug

(D) STda # & Big AL

U6 fioe o @ W Wel @l
femferRad W aRafda far S &
(A) IRMS I ®

(B) arfm fafma ==

(C) 3iva fafma <

(D) SWa ¥ ¥ I3 T

U faoell S @ 9] FHhRiEl 3R A
i@l @ FefelRad W gRafaa foar
ST

(A) TRMS o w®

(B) a1f<H fafma &)

(C) 3ivd fafma =

(D) SWad # | BIS T

(5)

10.

The position of the buyer under

instalment payment system is that of a :
(A) Bailor

(B) Bailee

(C) Owner

(D) None of the above

Under the instalment payment system,
balance of Interest A/c is transferred to :

(A) Trading Alc
(B) P&LAII

(C) Balance Sheet
(D) None of the above

Revenue items of a foreign branch are
converted at :

(A) Opening rate of exchange

(B) Closing rate of exchange

(C) Average rate of exchange

(D) None of the above

Current assets and current liabilities of a
foreign branch are converted at :

(A) Opening rate of exchange
(B) Closing rate of exchange
(C) Awverage rate of exchange

(D) None of the above

Set-B



11.

12.

13.

14.

A T B AR TG IR & ferg 1L

$IF-|T @raT 99197 oIl & 7

(A) TN Hraferd @l

(B) T Tl

(C) VARG b= Gl

(D) SWF &l

SRgT ARG AT S Fahfa Bl & - 12,

(A) IRAAd Tl

(B) STHAT BT T

(C) cgfdaTa Tl

(D) SWE & W B &l

Refq faavor o 9t F g wRfR@ 20 13,

(A) i GG oeR
(B) WIRIER oTar
(C) YwIP FTI

(D) fafa faum

i e~ fearenm A & ewid 14,

e fofie @ ¥ 999 39 99 d@
Q@i TR Bl @

(A) %20
(B) %100
(C) %300
(D) %500

C010202T (6)

Which account is prepared to find out the
amount of closing stock ?

(A) Head Office Account
(B) Branch Account
(C) Memorandum Stock Account

(D) All of the above

Branch Adjustment Account is in the

nature of :

(A) Real Account
(B) Nominal Account
(C) Personal Account

(D) None of the above

List F of Statement of Affairs is related

to:

(A) Fully secured creditors
(B) Preferential creditors
(C) Book debts

(D) Bills of exchange

Under Presidency Towns Insolvency Act,
the salary due to a clerk is a preferential

liability to the extent of :

(A) %20
(B) %100
(C) %300
(D) %500

Set-B



15. ¥R @ g daq HfoRad oFeRri §  15. Salary due to the manager is to be

sTifiret fopaT o & - included in the following creditors :
(A) 34?1’@1?{ AR (A) Unsecured creditors

(B) U FRIET o eR (B) Fully secured creditors

(C) 3M9re: U\j?'@ﬁ TR (C) Partly secured creditors

(D) Yd BRI o eR (D) Preferential creditors

16, UIN faarel sifdfRm & i, §-warl 16. Under Provincial Insolvency Act, rent

a1 3 fer m S L due to landlord is preferential :
(A) Ud HIE Pl (A) For one month

(B) I HIE @I (B) For three months

(C) TR HIE DT (C) For four months

(D) Suga H A Bl el (D) None of the above

17. QEUT &I dd B TEH U™ Sl 17.  Cost of winding up is shown in :

g

(A) Refa faazor (A) Statement of Affairs
(B) &HI @rar (B) Deficiency Account
(C) THI (A) @I (B) (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

C010202T (7) Set-B



18. @I ffefad @ aR # fdRor <t @ : 18, List-C gives details regarding the :

(A) e FHfRrl (A) Current Assets
(B) e \wfrl (B) Fixed Assets
(C) Yuid: Rl oiFeR (C) Fully secured creditors
(D) 3T JRIET R (D) Partly secured creditors
19. B9 P IR 3 G H & e R 19.  The amount of deficiency is given under :
(A) TI-A (A) List-A
(B) ¥A-B (B) List-B
(C) wdI-F (C) List-F
(D) HA-H (D) List-H
20. OB &l gTel AT BH P BEd § ¢ 20. Body or frame of a ship is called :
(A)  Sefdrd (A) Vessel
(B) W (B) Steamer
(C) BN &1 UeT (C) Hull
(D) SUYa H § I el (D) None of the above
21. @SH 9 SN & &Y Gfordl & & 1§ 21 Stevedoring charges are the wages paid to
Forgdl el ® the coolies :
(A) AT I IeM B forg (A) For loading of goods
(B) HIA Bl SARAT & forv (B) For unloading of goods
(C) AT Bl IgM IR SART & forv (C) For loading and unloading of goods
(D) SUYa H A Bl el (D) None of the above

C010202T (8) Set-B



22.

23.

24,

STEToll SRl gRT Arel dEr uiferdl ol
S B

(A) ATd & T 8 3 WG d 9919
@ forg

VETS @ R vge 31 g
ESCICAR

ST a9 7 81 3 iRe ¥ ae
% forg

SUa # 9 3 TE

(B)

(©)

(D)

el A WAl b g § g A D
U #E el B :

(A) I fHRT

(B) HIef 4TSI

(C) W

(D) TUxw TR

T el § e $l A

(A) Fgal AT GIaT H e @l Wl
gl

o-BT @1 # Bise & SR B
®el Hise Tl Bl Wl & |

qS # Sl Il & |

(B)
(©)
(D)

C010202T

(9)

22.

23.

24,

Freight Insurance Policy is taken by the

shipping company :

(A)

to avoid the risk of goods being

damaged

(B)

to assure the safe arrival of the ship

(©)

to avoid the risk of freight not

being recovered

None of the above

(D)

It is not an item of income with reference

to a Voyage Account :

(A)

Passenger Money

(B) Freight

(©)

Primage

Address Commission

(D)

Income from saloon in a ship is :

(A) Credited in the Voyage Account.

(B) Credited in the P & L Account.
(C) Credited nowhere.

(D) Added to freight.

Set-B



25. Ul AT W G AT P AFT A

g
(A)
(B)
(©)
(D)

qdex Y

e @A

TH (A) T (B)
SUa # 9 3 TE

26. TIEY oIl YUl & Y B

(A)

(B)
(©)
(D)

QD d & ENT-IAAT G H
yfafte

URdDl $ U WYE § o grafeedl
EUCISIEERCIR IR IEIEI

U AGER & ol Uell Bl gafte

27. AN N G -

(A)

(B)

(©)

(D)

C010202T

R F 91T 7 3IR IRT B FA
AT 2 |

I @1 Jerl & 3R Yol I &4
AT 2 |

HH BT T |

AN B Q1T & AR Yoll Bl HH

HRAT B |

(10)

Expenses related to the incomplete

journey are treated as :

(A)
(B)
(©)
(D)

Prepaid expenses
Outstanding expenses
Both (A) and (B)

None of the above

Double Entry System means :

(A)

(B)
(©)
(D)

Entry in two different sets of books

Two entries in one set of books
Entry in two real accounts

Entry of two aspects of one

transaction

Interest on drawings :

(A)

(B)

(©)

(D)

Increases expenses and decreases
liability.
Increases liability and decreases
capital.
Increases assets and decreases
capital.
Increases revenue and decreases
capital.

Set-B



28. WIfg @rar fA=forRad &7 ST & :

(A)
(B)
(©)
(D)

qRAf® T @l
qRATddD S @Tal
RIESAGECIR]

ATHHTA T YTd]

29. Pl JI AR AT I Pealdl g,
Rifep

(A)

(B)

(©)

(D)

G 984 B |

A B A fbwdl | fdar S
gl

TGN W Il AR H A U
AT T |

P e A™ Bl Al § ™

I BT 2 |

30. 3N & R R ) g weldl fAEfaRaa

T ISR &

(A)

(B)

(©)

(D)

C010202T

IR Y
ISl &3
JRARTT T Y

Swad # ¥ Plg T

(11)

29.

30.

Goodwill Account is an example of :

(A)
(B)
(©)
(D)

Real Tangible Account
Real Intangible Account
Personal Account

Nominal Account

An expenditure is a revenue expenditure

because :

(A)

(B)

(®)

(D)

The amount is very small.

The amount is paid in instalments.

It is intended to benefit in the

current period.

It is intended to benefit in the future

period.

Discount allowed on issue of shares is an

example of :

(A)

(B)

(©)

(D)

Revenue Expenditure

Capital Expenditure

Deferred Revenue Expenditure

None of the above

Set-B



31. (& oM 9 &1 Yoind @ & w9 H

Teld IqER hNe BT YR BT

(A) <Rl ¥ i
(B) T 4 gfg

(©)

(D)

T ¥  a wE ¥ gt

ami & g o e A

32. QMU R G @

(A)

(B)

(©)

(D)

I B foll T Y
I & g T 3
I B folU T FHfT
I B foll Uo TR

33. fog @1 [l W U a1 e 3

P! FfeRad @1 dvg feamr o §

(A)

(B)

(©)

(D)

C010202T

Udh YY

Td I

(12)

Incorrect treatment of revenue

expenditure as capital expenditure results
in:
(A) Increase in liabilities

(B) Increase in losses

(C) Decrease in profits or increase in
losses
(D) Increase in profits or decrease in

losses

Interest on drawings is :

(A) An expenditure for the business

(B) An income for the business

(C) An asset for the business

(D) A liability for the business

Unearned or unexpired income as on the

date of Balance Sheet is shown as :

(A) An expenditure

(B) Arrevenue

(C) An asset

(D) A liability

Set-B



34.

35.

36.

C010202T

U T4 SR B YRS & H G 737
CINEO R

(A) T Y

(8) Tofrrd =r

(C) SRINTT &

(D) SWE ¥ | TS el

Uhel WMl gRT AT QARG 3 TR
fag M ey @

(A) ATRS @ H e BT A1y

(B) M-8 @I # Sfdc o= a1fey

() Yol @ # Sfde Fwm =iy

() e & wmfy vt § e @y

ol oRIIB Pl YOTTel T 9=

Eaciid

(A) Tad ufdfie

(B) < ufafe

(C) @Ik yfdfte e

(D) ¥ wfafte

(13)

34.

35.

36.

Heavy expenditure to launch a new

productisa:

(A) Revenue expenditure

(B) Capital expenditure

(C) Deferred expenditure

(D) None of the above

Income tax paid by a sole proprietor on

his business income should be :

(A) Debited to Trading Account

(B) Debited to P & L Account

(C) Debited to Capital Account

(D) Shown on assets side of the

Balance Sheet

Tally supports system of

accounting.

(A) Single entry
(B) Double entry
(C) Noentry

(D) Null entry

Set-B



37. dorg e

U B B O o

coll ¥ %Y I € |

(A)
(B)
(©)
(D)

38. Cofl & Ted ¥ e

%l

TTferd
R ¥
ERRGICA]

gq™ o el

B ST ol ¢ |

(A)
(B)
(©)
(D)

Alt + F3
F11

F5

F6

39.

(A)
(B)
(©)
(D)

P T I el Ford @ |

Alt + F3
F11

F5

F6

40. UIel, qOIfST IR WWREl Y§RI ol H

(A)
(B)
(©)
(D)

C010202T

4 gRT 9 B 2 |

I 8Tl
$IC] eI
quTd SR R
Swad # ¥ Plg T

(14)

37.

38.

30.

40.

Balance Sheet is produced

when accounts are maintained in Tally.

(A)
(B)
(©)
(D)

manually
automatically
remotely

randomly

Pressing ........c...... button in the Gateway
of Tally opens company info in Tally.

(A) Alt+F3
(B) F11
(C) F5
(D) F6

Pressing key opens accounting

features.

(A) Alt+F3
(B) F11

(C) F5

(D) F6

Payroll,  budgeting and  secnario

management may be enabled through

............... menu in Tally.

Accounting feature
Inventory feature
Statutory and Taxation

None of the above

Set-B



41, oEidd GEl, ooRl, 9c 3R W@l 41 Accounting Groups, Ledgers, Budget and

AL H e g o SUee] 8 Scenario are available under ............. in
gl Tally.
(A) Payroll info (A) Payroll info
(B) Inventory info (B) Inventory info
(C) Accounts info (C) Accounts info
(D) gmiaﬁ T 9 Plg el (D) None of the above
42, v Il B deel aeeR AT aRA B 42, is the shortcut to create contra
Sitoae 2 | voucher in Tally.
(A) F6 (A) F6
(B) F5 (B) F5
(C) F4 (C) F4
(D) F2 (D) F2
43, e dell § CUGIGEGIRER faffa o= 43. .. is the shortcut to create payment
a1 3epe 3| voucher in Tally.
(A) F6 (A) F6
(B) F5 (B) F5
(C) F4 (C) F4
(D) F2 (D) F2

C010202T (15) Set-B



44, e doll B AT aeeR AT e @ a4, ... is the shortcut to create receipt

e 2 | voucher in Tally.
(A) F6 (A) F6
(B) F5 (B) F5
(€ F4 (C) F4
(D) F2 D) F2
45, e Sl H UH BRI OuTad a1 450 is the shortcut to configure a
Iehe 2 | company in Tally.
(A) F6 (A) F6
(B) F5 (B) F5
(C) F4 (C) F4
(D) F12 (D) F12

46. <fdc 3R Bfec dfoM & UJd agR @1 46.  Entering each transaction in debit and
yfafte o@ieT H yfife Feard) credit columns is called .............. entry

system in Accounting.

gl

(A) Tod (A) Single
(B) <= (B) Double
©) o (C) Triple
(D) @R Tom (D) Quadruple

47. TACH YINH b fov Wi Y@ Wik 47. Stock maintained for production purpose

hecldl 2 | iscalled ......ccooue....... .
(A) IR (A) Ledger
(B) Y- (B) Payroll
(C) defuc (C) Trial Balance
(D) sl (D) Inventory

C010202T (16) Set.B



48.

49,

50.

51.

At Ol & oM &
g o
feifaa ot

(A)
(B)
(©)
(D)

Tl 3R SRl BT U HoF qT 2 2

(A) e g
(B) Hdl
(C) R

(D) deluc

¢l o foha fgdiae &g & & ?

(A) 15
(B) 13
(C) 28

(D) 3

Uh HieC A
AT ST & |
fahe, TRITR
GURR, fdgar
EIECCER]
e, fdsher

&IXI

(A)
(B)
(©)
(D)

C010202T

@l

(17)

48.

49.

50.

51.

Nominal capital means :
(A) Applied Capital

(B)
(C) Authorised Capital

Issued Capital

(D) Reserved Capital

Which is a statement of assets and
liabilities ?

(A) Balance Sheet
(B)
(©)

(D)

Journal
Ledger

Trial Balance

How many secondary groups are there in

Tally ?
A) 15
(B) 13
C) 28

(D) 3

A credit note is sent by

tO e .

(A) Seller, Buyer
(B)
(©)

(D)

Buyer, Seller
Customer, Seller

Creditor, Seller

Set-B



52.

53.

54,

55.

C010202T

Sofl ed ¥ ddue Ed & folv diF-a1

[ded ygad il & 7

(A) Gateway of Tally > Report > Trial
Balance

(B) Gateway of Tally > Trial Balance

(C) Gateway of Tally > Report >
Display > Trial Balance

(D) @'{iﬂﬁﬁ@mﬁ
éaﬁﬁ'cﬁl .................... mﬁmﬁm%|

(A gt

(B) Cefl Wicge
(C) ®Rd AMCRR
(D) dfed AlfeRR

Soll Al Ugell IR Y& IR B qI8 DI-HI
A fewrs s @ ?

(A) Gateway of Tally

(B) Company Info

(C) Display

(D) Swad # ®ig T

T e | aRadd &A@ forg Coll
¥ BI9-91 sy waa g 8 ?

(A) Select Company

(B) Shut Company

(C) Alter

(D) Connect

(18)

52.

53.

54.

55.

Which option is used to view Trial
Balance from Gateway of Tally ?

(A) Gateway of tally > Report > Trial
Balance

(B) Gateway of Tally > Trial Balance

(C) Gateway of Tally > Report >
Display > Trial Balance
(D) None of the above

Tally Package is developed by ............ .

(A) Peutronics
(B) Tally Solutions
(C) Corel Software

(D) Vedika Software

Which menu appears after starting Tally
for the first time ?

(A) Gateway of Tally
(B) Company Info
(C) Display

(D) None of the above

Which option is used in Tally to make

changes in created company ?

(A) Select Company
(B) Shut Company
(C) Alter

(D) Connect

Set-B



56.

S57.

58.

C010202T

G AT A W D91 fdded Cell |

UG A3 B 9 & foly A
B © 7

(A) Company create
(B) Create Company
(C) Create New Company

(D) Make Company

HHH ST B Udesd I1 CD H Bl

R T U BE-A fqFed WE
g ?

(A) Backup
(B) Restore
(C) Copy data

(D) Split company data

PIF-a1 fowe oot & PfFfT e @
¥ yged B B ?

(A) Create Company

(B) Open Company

(C) Select Company

(D) Shut Company

(19)

56.

57.

58.

Which option from company info menu is
selected to create a new company in

Tally ?

(A) Company create
(B) Create Company
(C) Create New Company

(D) Make Company

Which option is used to copy company

data into pendrive or CD ?

(A) Backup
(B) Restore
(C) Copy data

(D) Split company data

Which option is used to open company

created in Tally ?

(A) Create Company
(B) Open Company
(C) Select Company

(D) Shut Company

Set-B



59.

60.

61.

62.

C010202T

-9 fdbed ol H Wiell gz HHAI a7

BR W UYFT B ?

(A) Connect Company
(B) Shut Company
(C) Create Company
(D) Select Company

g S I
| ¢ |

(A) A company info > Backup

ECEG

(B) Company info > Alter
(C) Company Info > Split Company
Data

(D) SWE ¥ | TS el
HHH IRER faded

¥ IUTeT 2 |

(A) Company Features
(B) Company Information

(C) Configuration
(D) SWa ¥ ¥ I3 T

(A) Menu Bar
(B) Gateway of Tally
(C) Accounts info

(D) Buttom toolbar

(20)

59.

60.

61.

62.

Which option is used in Tally to close
opened company ?

(A) Connect Company
(B) Shut Company
(C) Create Company
(D) Select Company

We can change the company information

from ... )

(A) A company info > Backup

(B) Company info > Alter

(C) Company Info > Split Company
Data

(D) None of the above

Company Restore option is available
N e, .

(A) Company Features

(B) Company Information

(C) Configuration

(D) None of the above

The home screen of Tally is also known

as ..o, .

(A) Menu Bar
(B) Gateway of Tally
(C) Accounts info

(D) Buttom tool bar

Set-B



63. Udh SOl dde] ¥ ferd o 63. A company can be deleted only in :
Pl B |

(A) Display (A) Display
(B) Alter (B) Alter
(C) Delete (C) Delete
(D) Create (D) Create
64. F12 & 9 H ST T | 64. F12isknownas .............. .
(A) Company Features (A) Company Features
(B) Company Configuration (B) Company Configuration
(C) Accounting Features (C) Accounting Features
(D) gmiaﬁ T Plg el (D) None of the above
65. <ol § fohae e t@qﬁqﬂﬁa 27 65. How many groups are predefined in
Tally ?
(A) 28 (A) 28
(B) 30 (B) 30
(C) 15 (C) 15
(D) 19 (D) 19

66. 1 VeI, 2009 TP oGl HNEG dIs gRI 66. The number of accounting standards

AT T T 9 T R issued by the Accounting Standards
Board till 1st April, 2009 is :

(A) 15 (A) 15
(B) 29 (B) 29
C) 32 C) 32
(D) # (D) 41
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67. JKIBI @I ST ol Yullell #H, Y 67. In double entry system of book-keeping,

FTaRG FIER GHId Bl & every business transaction affects :
(A) TH T Bl (A) One account
(B) T Wl Bl (B) Two accounts
(C) o & WM & sfic 3R dfee e (C) Debit and credit side of the same
= account
(D) Sugad FHI (D) Al of the above
68. <F HOIGY @ 68. Wages owing is :
(A) IRIAS @ (A) Real Account
(B) SOfdRTd ATl (B) Personal Account
(C) SHHT PT WIdl (C) Nominal Account
(D) Sugad Fl (D) All of the above
69. U®H WHRT &1 &I € : 69. Anasset has :
(A) sfae 9y (A) Debit balance
(B) wfsc Y (B) Credit balance
(C) FH S AV AR F Bfse 99 (C) Sometimes debit and sometimes
credit balance
(D) IR H sfdc ¥ 3fR o H dfse (D) Debit balance in the beginning and
oy credit balance at the end
70. g B BH B /BT B B 70. Netlossis ............. of the firm.
(A) T T (A) An asset
(B) Ud Icd (B) A liability
(C) T I (C) Anincome
(D) Udh 3IFARINT g (D) An extraordinary expenditure
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71.

72.

73.

74.

75.

faceh vmar @ <en §, e R @ 71

gRafdd f&ar o @
(A) 3T X W

(B) < W W

(C) URMPH W W

(D) SWH # | B &l

@ or few@mT 9 R
(A)  THERE A

B) TR |

(C) MR Tl #

(D) M-8 @

ERP &1 40f %Y R § ?

(A) Enterprise Resource Planning
(B) Economic Resource Planning
(C) Efficient Resource Planning

(D) Economic Resource Processing

ceoft # =1l fofdr & 7 ared © 2
(A) Dovex fafr

(B) it aswR fafd

() 3ifow a1 foar fafdy

(D) Rrew fof
TSR BT T IGeH & :
(A)  TIROT | FIHAT Al

() iUl &7 A Bl

©) I ¥ Aaafar am
(D) Sugad FHI

C010202T

72.

73.

75.

(23)

In case of foreign branch, fixed assets are
converted at :

(A) Average rate
(B) Closing rate
(C) Opening rate
(D) None of the above

Goodwill is shown in :

(A) Assets

(B) Liabilities

(C) Trading Account

(D) Profit & Loss Account

What is the full form of ERP ?

(A) Enterprise Resource Planning
(B) Economic Resource Planning
(C) Efficient Resource Planning
(D) Economic Resource Processing

What is meant by current date in Tally ?
(A) Calendar date

(B) Last vouher date

(C) Last worked date

(D) System date

The main object of amalgamation is :
(A) To facilitate distribution

(B) To stop competition

(C) To minimise the expenses

(D) All of the above
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76. el FIATd DI AR B IR T 76. According to the concept of going

GATT BT ST HET ST 2 concern, a business is presumed to have :

(A) TH 3T Siiad (A) A limited life
(B) U MR¥¥d Sitaq (B) A definite life
(C) TH &Y Sfaq (C) Along life

(D) U& yHREd Siad (D) An indefinite life

77. NG AMP-6 ‘G ogied” fAmferiad 77. AS-6 “Depreciation Accounting” is

TR AN BTl & : applicable to :

(A) e 3R 7RI (&) Plant and Machinery
®) (B) Goodwill

© (C) Livestock

(B (D) Forests

78. Gl HMH-26 “3F GHRAI @ NN, 78. As per AS-26 “Intangible Assets”,

AaRE w7 X TR @Y BT SR internally generated goodwill is :

(A) T foar e 2| (A) Not recorded

(B) QT%!HC B P AT W fhar Sirdr (B) Record at the cost of generating
g

(C) fauwsl gNT f W Yaldd W (C) Recorded at the valuation done by
T ST 2| the experts

(D) SUYa H A Bl 7l (D) None of the above

C010202T (24) Set-B



79. oGl 9HH-13 “RfFART & forv d@iea” 79. As per AS-13  “Accounting for

: Investments™ the current investments are
& ATAR A1l fAFRRT &1 feforRed w
shown at :
<9Ifar ST §
(A) AR @ arTa (A) Cost of investments
(B) dINIR HeI (B) Market value
(C) T a1 Sfud e, S IRAGIR L (C) Cost or fair value, whichever is less
gl
(D) o a1 Ifd e, A <Al H (D) Cost or fair value, whichever is
e & higher
80. OIIGA B T PN ¢ : 80. The prime function of accounting is to :
(A) RIS FAERT BT AfeRg (A) Record business transactions
(B) @R & U P ARG FHAT (B) Record qualities of the businessman
(C) TG FagRl &1 3if¥ergd Td (C) Record and classify business
T BT transactions
(D) FRAEl & [l YErlHd AR (D) Provide the informational basis for
T BT action

8l. Uil @I U& @ & w9 # AW g9 8l Treatment of capital as a liability

NGB TG B SRRV BT 3 observes the accounting assumption of :
(A) T AR (A) Separate entity

(B) 3TH El%jél (B) Revenue realization

(C) U UdhCIaRyT (C) Full disclosure

(D) efoRIRIe arrg Rigra (D) Historic cost principle
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82.

83.

84.

85.

SIERT TG JOITell T ST gafT o
(A) 9RT H

(B) 3rR® A

(C) Feell A

(D) w9 #

Sfae ¥ Had e @

(A) |HRT @l | glg

(B) USil @rdl H &

(C) < F=t @rai § wH
(D) SHIF T

Piec § Hard ferd @ -

(A) |HRT @@l | glg

(B) Yol Tl H FH

(C) <R Tl @l H gfg
(D) SHIE W

IS T TR §
(A) I

(B) I ¥

(C) JHfRwEl |

(D) TR A

C010202T

(26)

82.

83.

84.

85.

Double Entry System originated in :
(A) India

(B) America

(C) ltaly

(D) Russia

Debit signifies :

(A) Increase in assets accounts

(B) Decrease in capital accounts
(C) Decrease in liabilities accounts

(D) All of the above

Credit signifies :

(A) Increase in assets accounts
(B) Decrease in capital accounts
(C) Increase in liabilities accounts

(D) All of the above

Real accounts relate is to :
(A) Expenses

(B) Incomes

(C) Assets

(D) Liabilities
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86. ATE @ W WHRIAIT & :
(A) T AT I
(B) Wil e <l |
(C) T ERI OO oFerRi A
(D) SWF il ¥

87. Ydqd @Y BT T -
(A) TGS Grar
(B) SATMIIAd cafdRvTd Tl

(C) vfiffera & arell AfdewTd @

(D) M BT Gl

88. Sfic uffteal ¥ fA=foRed &1 IV ¢

RN -
(A) I G
(B) Wiic q W=RI @rar
(C) M (A) 3R (B)
(D) fasma @

89. @M gRT fhar T JMERT -

(A) TRE B GSRAT &R wHRwEl @

CARE

(B) THURMI ®I TR 3R Tl @

CARE

(C) TUREl &R WMl & wWifia Sl

BT ISR

(D) WM & W@ @ g &R

<Ral 1 QR

C010202T

(27)

86.

87.

88.

89.

Nominal accounts relate to :

(A)
(B)
(©)
(D)

Expenses and Incomes
Assets and Liabilities
Debtors and Creditors

All of the above

Prepaid expenditure is :

(A)
(B)
(®)
(D)

Real Account
Natural Personal Account
Representative Personal Account

Nominal Account

Debit entries will increase the balance of :

(A)
(B)
(©)
(D)

Purchases Account
Plant and Machinery Account
Both (A) and (B)

Sales Account

Withdrawal by proprietor would :

(A)

(B)

(©)

(D)

Reduce liabilities and increase
assets

Reduce assets and increase
liabilities

Reduce both the assets and owner’s

equity

Reduce owner’s equity and increase

liabilities
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90. wfse ufiftewi ¥ fy=forRad &1 A9 53

(A)

(B)

(©)

(D)

1 e
ERECIRI
[EERIEIEEIRCI
d& srfeifaey

91. Nidbe W BT I AT BT B

(A)

(B)

(©)

(D)

92. Ua

mp

(A)

(B)

(©)

(D)

C010202T

3@l ol g B
3y &1 g ™
g TR VDS
FIA DI Fg G

doye fAEfaRed @ S axar

AGTITAS DI SHMGRI
il @1 SHFCRY
LSRRG ERIRIDINEG

SERECEGE]

(28)

90.

91.

92.

Credit entries will increase the balance

of :

(A) Goodwill Account

(B) Purchases Account

(C) Sales Returns Account

(D) Bank Overdraft

The balance of Cash  Account

indicates :

(A) Net loss for the period

(B) Net profit for the period

(C) Net cash on hand

(D) Net worth of the business

A Trial Balance checks :

(A) Honesty of the accountant

(B) Honesty of the owners

(C) Arithmetical accuracy of books

(D) All of the above
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93. Ud qouC AR (HfeiRgd &l ¢gl o 93.

qH 7 -

() fogr @t e
(B) T I il Ffedr
(©) e e

(D) SWE ¥ | TS el

94. HIBT B T 445 B 9ol @ @dHl SHb 94

W OH T 544 ¥ BR O TS, 3O
fforRad Wy e

(A) P e

(B) fawma &

(C) HIET & Gl

(D) Suga Wl

95. fgrd @ FfeAl 79 SO 2l § oI - 95.

(A Rl @gER o1 Bis far T &
(B) forei =aeR &1 forg faar mam &

(C) Twd! # e A fordl T @

(D) ol Td 3T ) 7l # Sfd Wq
7 fobar T |

C010202T (29)

The following can be detected by

preparing a Trial Balance :

(A)

(B)

(©)

(D)

Errors of principle

Errors of omission

Errors of compensation

None of the above

Sales to Mohan % 445 posted to his

account as ¥ 544 would affect :

(A)
(B)
(©)
(D)

Cash Account

Sales Account

Mohan’s Account

All of the above

Errors of principle arise when :

(A)

(B)

(©)

(D)

There is an omission of transaction

There is a commission of

transaction

Wrong amounts are entered in the

books

Proper distinction is not made

between capital and revenue items
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96. douc # yefRia sa @ar R=fafad & 96. Supense A/c appearing in the Trial

i T & Balance is shown in the :
(A) WTTeE! (A) Ledger
(B) wUIRS @Il (B) Trading Alc
(C) -1 & (C) P&LAL
(D) fuEr (D) Balance Sheet
97. DRI Yol & 97.  Working Capital is :
(A) @M Bl 3T Yl (A) Proprietor’s own
(B) YR @l T8 sl (B) Borrowed capital
(C) fam o x@H (C) Amount of Capital
(D) e FHRRAl — =Te] QTR (D) Current Assets — Current Liabilities

98. ddUc & qrexX ueiid vefaar A=feRag # 98. Stock appearing outside the Trial Balance

Tt o & is shown in :

(A) ARG Tl (A) Trading Alc

(B) TT-BIM &l (B) P&LA/

(C) ¥ fagr (C) Balance Sheet

(D) TUIR® @rar qor fugm (D) Trading A/c and Balance Sheet
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99. fi=feiRgd & @ Ue ofd wHRT &1 99.
SETERY BI-4T © 7
(A) ¥
(B) fafmmr

(C) 3l T ForuAl & AT W 8

(D) YPRH-3RHR

100. Fr=foRed @ gwRml ok w@ifi @ 100.

Wi <1 H gl Bl B
(A) IR BT 3R

(B) TTRRI ¥ I

(C) F&RI &I YIIdH

(D) IR gRT oS TS ol

C010202T (31)

Which one of the following is an example

of an intangible asset ?

(A) Building

(B) Investment

(C) Discount on issue of shares and

debentures

(D) Copyright

Both assets and owners’ equity would be

increased by :

(A) Proprietor’s drawings

(B) Payment from debtors

(C) Payment to creditors

(D) Capital brought in by the

proprietors
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
23
£
o
a,
|
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